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SANKYO [CRF4%Y # %> ST15 STH | 15| 3&3&10&15 | 239.2 | 23.92 | 100.0% | 2.709 4 | 503 B EEERY 4R=22.0%+8R=28.0% * 12R=20.0% - 16R=30.0%
I SEHD ST# | 85lH] (ST=15)| 63.1% 9 8 | 1,005 10.32 | 1,207 MIEAMAL CRZ4—/S—MATSURI the KING ST15
@ ERIEE =72 @IRED) =72 @I8fEAE)—) @I AHIEAH ) @/N4Yj=7l 12 | 1,508
16 |2,011
CRF43D # %2 ST15#1 | STH [ 15[ 3&3&10& 11| 158.7 | 22.1 | 100.0% | 2.499 359 B EEERD 4R=22.0%+8R=28.0% * 12R=20.0% * 16R=30.0%
ST# 35[A] (ST=15)| 60.0% 9 717 1032 | 925 KIEAR XA CR74—/3—MATSURI the KING ST153}
@ ERIEE =72 @IRED)=72L @I8fHAE)—) @I AHIEAH ) @I/N4Yj=7L 12 [ 1,076
16 | 1,435
REEE |CRIZHAZEREEMN HS3 STH | 80Fl| 3&3&10&15| 399.6 | 60.7 | 100.0% | 4.037 2 | 249 [~Y] 2R=50.0%¢11R=25.0%16R=25.0%
IR MAX EDITION | #&{KA | 7AMIE] (ST=84)| 75.2% | 9 | 11 [1,368] 12.08 | 1,501 |[&EF2—]2R= 0.0%- 1 1R=50.0%- 16R=50.0%
@ E =L HAkE) 16 | 1,989
@ BRI =72 LA%E @IREH =hH) @ISHAT)—) @IETF—ELHl) @I/NYY =721
M B |CRAZ=3=%r24—2 N70Z| 74 |100r20( 3&3&10&10| 99.9 | 9.99 | 70.0% | 3.937 o LA 323 |, [¢HEZ>-4R=60.0%15R-10.0%
SHEIHD | @TEHRIEZA =720 @I/ 40 =72l @IREH) =7/l @4fHAEV—] @I ANEINEN L 15 [ 1,210 GEH>4R=30.0% (KA 10[H] : 2081 =1: 3)
2008/9/28| CRAS=I=F > A% — N70Z2 . 10H]| 3&4&10 99.9 | 9.99 [ 70.0% | 3.951 9 4 | 323 =10 | a1t <TeZE>4R=60.0%+ 15R=10.0%, <if % >4R=30.0%
or 20d] 15 | 1,210 KPR EZSHE T $2=20[8], Rl E K20 %=10[F]
Z1—%Y |CRAZYF4 N—T(G) BIRA| 20| 3&3&8 99.8 | 9.98 | 66.0% | 3.598 222 0 <HfEZE>9€2R=14.0% (HIEIHER=12.0% - EEH K H=2.0%)
<ECFIAND &9&10 7 7 | 439 | 6.82 | 427 |<HEZ>TR(KIEIZ)=42.0%¢16R (YR[A3Z) =10.0%
@ [ EHIRIEA ) =(WIER] @IREH ) =72l @ISfEHAE)—) @IET=—EIliH(k) 16 | 1,003 Gl > TR=34.0% (HE4E=201m])
@ /)40 TR = (~)1/166.33 (HFa—) 7L | | |




